02/08/07 – Load Fig11.6.xls into x()

>> sm=sumstats(x(:,2),x(:,1))

sm =

           16       5.2562      0.97909

           16       7.6625       1.1471

           13          5.1      0.70946

           15       6.4067       1.2303

           14          4.8      0.67596

           15         6.86       1.1141

>> [f,pv,ssa]=anova(sm)

f =

       19.026

pv =

  1.4577e-012

ssa =

       97.034            5       19.407

       84.662           83         1.02

        181.7           88       2.0647

>> rmse=sqrt(ssa(2,3))

rmse =

         1.01

>> dfe=ssa(2,2)

dfe =

    83

Are fiber 2 and fiber 6 different?

>> i1=2;i2=6;

>> tprob(0,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),999)*2*15

ans =

      0.44693
After including Bonferroni, we cannot conclude that these are different

Calculate a 95% confidence interval for the difference (including Bonferroni correction.)

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),9)*2*15,.05,-9,9,.00001)

ans =

     -0.29461

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,-9,abs(sm(i1,2)-sm(i2,2)))*2*15,.05,-9,9,.00001)

ans =

       1.8996
Now compare Fiber2 and Fiber3

>> i1=2;i2=3;

>> tprob(0,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),999)*2*15

ans =

   2.291e-008
We CAN conclude that these are different

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),9)*2*15,.05,-9,9,.00001)

ans =

       1.4227

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,-9,abs(sm(i1,2)-sm(i2,2)))*2*15,.05,-9,9,.00001)

ans =

       3.7023

>>
Fiber 3 is between 1.4 and 3.7 units higher than Fiber 2

